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This says I can make f(x) as close to y = 3 as I desire, by taking x sufficiently close to 2.

| f(x) ­ 3 | < small  by making | x ­ 2 | < some other sufficiently small.

No.  For the (2­sided) limit to exist, we need the left and right limits to agree!
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(a)                          means that I can make f(x) arbitrarily large by taking x arbitrarily close to ­2.

Give me a big positive number.  I can take x close enough to x = ­2 to make f(x) BIGGER than your 
positive number AND REMAIN bigger, anywhere closer to x = ­2.

(b)                          means that I can make f(x) come in BELOW any negative number by taking x 
sufficiently close to x = 3, coming in from the right.  

Negative # with BIG absolute value.

(Large negative number).
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